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0/RPO/ADMINO:Jul 24 15:58:43.342 UTC: sfe_driver[2562]: $PLATFORM-CIH-5-ASIC_ERROR
parity error has occurred causing packet drop transient.
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrInt

2/RP1/ADMINO:Jul 24 15:59:04.984 UTC: sfe_driver[2538]: $PLATFORM-CIH-5-ASIC_ERROR :

parity error has occurred causing packet drop transient.
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrInt

F0/SCO/ADMINO:Jul 24 15:59:15.953 UTC: sfe_driver([2470]: $PLATFORM-CIH-5-ASIC_ERROR :

parity error has occurred causing packet drop transient.
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrInt

F1/SCO/ADMINO:Jul 24 15:59:35.792 UTC: sfe_driver([2489]: $PLATFORM-CIH-5-ASIC_ERROR :

parity error has occurred causing packet drop transient.
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrInt
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: sfe[31]: A
sfel[1l3]: A
sfel[ll]l: A
sfe[34]: A

FARTHERBEANRREFIAE(FC)e HRERTFCHIRES, ABFRFRTINBRERLF

HFE(LCC)e HmBERRLCCHIRES.
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0/RPO/ADMINO:201356 A28 H10:48:54.132 UTC:sfe_driver[2526]:%PLATFORM-CIH-5-
ASIC_ERROR:sfe[15]: Il HFBR K FHIx , SBBFESEF G,
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrint
sfedm 5N 15,
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g/lJIéZII]:’1O/ADMINO:201 3F6H28H10:48:54.132 UTC:sfe_driver[2526]:%PLATFORM-CIH-5-
ASIC_ERROR:sfe[15: M FBREFIR , SBBFEIEF LT,
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrint
MFERE=LCC
HRES=0
SFE4%S= 15
15/6 =2 (MERHA )
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2/RP1/ADMIN0:2024 47 B 24 H15:59:04.984 UTC:sfe_driver[2538]:%PLATFORM-CIH-5-
ASIC_ERROR :sfe[13]: H M FR/RKE IR , SHBESEF YR,
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrint
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13/6 =2 (MERA)

RIRFERER= 2/FC2



- NTFC: FsfelRBRU3 , REATEA , LIREBRREREF(FC). YRS RRFCHNE,
Hlan1

FO/SCO/ADMINOQ:201357 H24 H15:59:15.953 UTC:sfe_driver[2470]:%PLATFORM-CIH-5-
ASIC_ERROR :sfe[ 11 I HFEREHFIR , SBBEISEF L,
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrint

MFERE=FC

HRES=0

SFE4 5= 15

M3=3(HEERA)
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F1/SCO/ADMINOQ:201257 H24 H15:59:35.792 UTC:sfe_driver[2489]:%PLATFORM-CIH-5-
ASIC_ERROR :sfe[34]: H M FB/REE IR , SHBEFEBSEFE,
RTP.Interrupt_Register.RTP.Par_Err_Interrupt_Register.ParityErrint
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